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 
  

 
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 
 
 
 
 
 
 
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129 
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 
  

 
 
 

 
 
 

 
 


2008 

 
 
 

 
 
 

 
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 
 2008 

 
09 

-1
 

 
 

  
 

  
  

 
 

ATP
 

 


2
 

 
 
 

 
 
 
 
 

 
 
1  

2 

 الشɢلࢫ(أ)

 الشɢلࡧ(ب)
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 
 

 1الوثيقةࢫ

عصبونࢫ

1ج 1تࢫ 

2ت  

 

3ت  
1ت  

3ج  

5ج  

4ج  

3عصبونࢫ  

1عصبونࢫ  

2عصبونࢫ  

2ج  

2  
3 

ATP 
4 2ATP

020 20 40 
 

 06 





1 
1  
11452 
22452 
33452 
   
 
 
 
 

 
 

 
2 

 
 12


45 

 123
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 
 45 

 
 
 
 


2 

 
 
 
 

 
 
 
 
 
 
 45 
1-أ -3

2 
-ب

 
 

:05 

I- 
 

- 1
 

 
 

1 
 

4  5  
1  

2  
 

4  5  2  
 
 

3  4  
 

5  
 

3  
 

 
 

4  5  1
2  

 
 

4  5  1
23

 

mv 

-70 

0
mv 

-70 

0

mv 

-70 

0

mv 

-70 

0

mv 

-70 

0

mv 

-70 

0
mv 

-70 

0

mv 

-70 

0

mv 

-70 

0
mv 

-70 

0

mv 

-70 

0

mv 

-70 

0

mv 

-70 

0
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 
  

 
 

 
 

 
 
 

1  
2  
3  
4  
5 3 

II-2
 

-  
2 

 
 
 
 
 
 
 
 

 
 
 

 











 












 G C U A  
U 
C 

   Asn 
Asn A 

A 
G 

  Leu 
Leu 

 U 

A 
G 

Arg 
Arg 

Pro 
Pro 

 Gln 
Gln C 

A 
C 

  Val 
Val 

 G 

Arg-Gln-Leu-Gln-Leu-Asn-Pro-Val 

1 
 

 

1 

2 

 

3 

4 5 

6 
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 
  

 
1 

1- 
-ATPpH
 
-ATPpH

pH 
-ATPpH

 
*ATP 

- Ph 
-  

2-
ATP

ADPPiH+ 
2 

1-  
- 

 
- 

 
 

 
2-:


 
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 
 -020ATPase

 ATP 
-2040

  ATP 
3-ATP


ATP  

-020ATP


 Ph
 ATP 


 

-2040 ATP
 

-
 

 
 

 
 
 

 
 
 
 
 

1- 
1 
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 
 2

PPSE 
3

 
2- 
12


 

123



 

-أ-3 
1GABA 
2 
 

 
 
 
 
 
 
 
 
 
 
 

- ب 
       

         

 

 
 

 

ACH 


 

 


 

GABA 

 
 

 

 

m

-
0 mv 

-70 
0 


 

 
  
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 
            

  
 

 
 

I-1- 
 

2- 
 

3- 
1ARNm34 ARNt6 
2ADN 5  

4 
  

 
 
 
 

5- 
 
 
 
 

 
 
 
 
 
 

II 

ARNm 
 

 
 

ARN  

 

R1 R2 

R1 
 

R2 

 1حمض أميني 2حمض أميني

 ببتيدية رابطة
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 
 ARNm 

 
 
 
 
 

2008 
 

08.5 


 
1 


 

1
 

 
 
 
 
 
 
 
 
 
 

  1 
   
2- 



1  

GCT GTT AAT GTT AAT TTA GGT CAT 
CGA CAA TTA CAA TTA AAT CCA GTA 
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 
  RH.H+  ADP  Pi

 
  


 

ATP 
 RH.H+ 

R+ 


 
ATP 

 RH.H+ R+ 
   

  


 
3- 


2 

  2 
  

211 
4- 

 
 

 
 
 

2  
 
 
 
 



.......................................................................
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 
 

2 

 ب

 أ

06.5 
1


 

1 
1

pH 
1pH 

 
 
 

 
 
 
 
 
 
 
 
 

  1 
  1 
2 2

 
 

 
 
 
 

 



  
 

1 

 

 

 
 





O

2
 

1501209060300 

1 

pH=4 

pH=10 

pH=6 

pH=8 

pH=7 


 





O

2
 

1501209060300 



.......................................................................

 

15 

 
   

2 
  2 
α- 
β -1 
3- 

 
 

05 
I

1


 
 -أ

 15-ب
 - ج
- 

 
 
 
 
 
 
 
 

II2 
1-123 
2- 
3 12 

1 N

m

v

r

r

v

g
m

1 

2 
5 

3 

4 
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 
  

 
 

 
 
 

 
 
 

 
 

 
 

 
 

 
 
 

 
 

-أ -1


16300
160 


 

2 




3 




 

8  
 

1 
 

5  

 
PNT 
 A



2 
 

PN PN PN 

PN PN PN 
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 
 

 
 -ب 

 
 

-أ -2 
ATP

 
 -ب
 -أ  -3

 
 -ب


ATP




 
 

 
 
 
 

 
 

 
 
 

 

 تفكك الغلوكوز
 الغلوكوز الغلوكوز
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 
  

1 -أ-1 


 
 

- O2
 

- (O2
 

* 
1pH-ب

 
-أ-2 

 
 
 
 
 

α- -ب 


 
β-





 

 
3- 




E 

ffy
gvs
S 

ES 
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 
 
 





 
 

1
 

2


37°
 

 
 

I-أ-  
-ب 

1    2          3 
                     4                     5 

- ج 
-  
-  

II -1- 
1 
23 
 

2-
T4 

LB 
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 
 MAF 

4LB 
6LB 

3- 
 
 
 
 
 

 
 
 
 
 

 
 

 
 
 
 

 



 
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 
 

2008 
10  


 

1 
 

 
 
 
 

  
 
 
 
 

   
   


 
2 

30


 

 

  

1 


 



 

2 

 
 

  

1 

2 
3 

  
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 
  

 

3 



 



 

4 


 



 

  2
 

   
 

10  
 

1 15
 

1 
 
 
 

1 
 
 
 
 

   
   
2 2 
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 
  

 
 
 

   2 
 
 
 

 
   

  α2 
β 
γ2 
3  
  

 

 
 

1 
 
(LT4) 
 
CMH  

 
1 

 
2

HLA 
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 
 3

 
LT4

←LTh←←
LTLB 

22LTc
CMHI 

 
 

1 
3LTc 

4LTcCMH 
 

 
 
 
 
 
 
 
 
 
 
 

1ARN
 ARN 

      ARNm     

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 
 ADN

ARN 
2 

1 
2 
3 
4ARNm 

 
α 

β 
 
 

γ 
 
 
 
 
 
 
 
 
 

3 



 

 
 
 

 



.......................................................................

 

26 

 
 2008 

 
10 

I-  
  VIH


1 

 
 
 
 

 
 
 

 
21 

   
   
2 LTCLT8   
   

   
3212 
II


 

 
 
 



20 

40 
60 

80 
100

5 10 15 20 25 

LT8

LT4 
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 
 10 

1
12

ARNt
1 

  
 
 

 1 
 
 
 

 
   

  1 
2 
22

 
 

  
2 

 
   

   
 
32

11 
 
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 
  

 
1 

LT8 
LT4 

 
LT4 

2 
 
 

 
LTC

LT8LT4 
3 
2120gp

CD4LT4LT4 
LT4 
LT4 

LTc 
II 


 

 
 

1 
1
 

 T3 Tc T4 فیروس T8 LTC 
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 
 2

 
 

1
 

ARNt 
ARNt 
2 


ARNm 

 
 

 
ARNm 
ADN 

3 
 
 
 
 
 
 
 
 
 
 

 
 

ARNmARNt 



.......................................................................

 

30 

 
 

 
 
 


2009 

 
 
 

 
 

 
 
 

 
 

  



.......................................................................

 

31 

 
 

2009 
 

09 



 

1
 

 
 

 
 
 

 
2

 

112 
1

 

       C     C 
   A C T       

      U   U A C  





ARNt 

A C G     C     




 

    

2 

    1 
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 
 1 

22 

3
1 

 
2

 
 


 

I
CO21

230 


1 
 
 
 
 
 
 
 
 

1 
11 

 
GCA GGU UGG ACC 
GCC UCA CGU ACA 

 T= 2 s بعد   T= 1 s بعد  

C5P2 

PGA 
saccharose 

aspartate 

glutamate 

gl
yc

in
e 

alanine 

C3P 

sé
rin

e 

 T= 30 s بعد   
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 230

12 
3 APG 
II2APGRudip

 co2
500co2 
12 
     APG Rudip  

500 
25001000 
APGRudip 
2 

III
APGRudip 
 

 
 
 
 

  
  

    
  

 
 
 

 2الوثيقة 

 الزمن بالثانية

Rudip (C5P2) 

APG (C3) 

1%CO2 

(mg) الكمية
[CO2] % 

500 -100 

1 

0 
1000 -200 

0,003%CO2 
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 

 

 

  

2 

1 

3 

4 

 


 
I

115


1 
 

  
  

 
 
 
 
 
 

 
1 

1 
224

 
3 
II




6480
2 

 
 2 

4 

6 

2 5 1 

7 

3 

 5 

 

 

 

6 

7 
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  

 
 
 
 
 
 
 
 
 

2 
- 

6480
2 

- 
 

- 
2 

12 
2 

 
2 

III–
 

  

 
 

1 
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 
 -ADN 

 
 
-  
-  T 

 ARNm 
 

 
U  

1 


 
22 

3 
 

 
ARNm 
 
 
ARNt 

 A C G T G A C C A T G C 
T G C A C T G G T A C G 

 U G C A C U G G U A C G 



ARNt 

A C G U G A C C A U G C 


 

    
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 
  

 
 
4 

 
 
 
 
 
 
 
 

 
 
 
 
 

 
 

1 1
 

2  
1APG  
 2C3P  

3  APG 
  CO2 2 CO2 
 CO2  

APG 




 


ARNt

C
T
G
T

T
C

C
A
T
A
G

A
G

C
A

A
G

T
G

A
T
C

U
A
G

 

 

ARN  
 

ARNm 
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 
  CO2   

APG2 
1 
-  
RudiPAPG

 
RudiPAPG

CO2
 

ATPNADPHH+ 
APG 

 
* 

RudiPAPGCO2 
APGRudiP

 
2 
*- 
 

 
 
 
 

   
 
 

I 
1  

 2 APG 
(2C3) RudiP 

CO2 

ATP NADPH,H+ 
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 
  

2 
2

4 
3 

 
 

II1 
   
- 


 

  
 

III 
 
 
 
 

 
  

 
 
 

  
 
 
 

1 
 

2  
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 2009 

 
 




 
I


12  


12  

  
  

   


   

ATP
 36.5 2 


(mg) 

(g) 

250 
 
 

5.7 
 

 
1 14 
2  



.......................................................................

 

41 

 
 3  

4  
5  

 II11
ATP


2 
 

- H+ATP
O2ADP Pi  

2 
12 
2 
3            O2

ATP 
 
 
 
 
 
 
 

      
2 

 


 
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 I1


 

- 1 
- 2 
- 3 

 
 
 
 

01 
 
 
 
 
 
 
 

 
1

3 
11 
252

1 
112 
 
1           

 
 
 
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 
  

 
 
 
 
 
 

 
 
 

II 
1 
 1

P1 
 21

2
 

-  
22

1 
 
 
 
 
 
 
 
 
 
 2  

 مورفين
 أنكيفالين

1  

5

t (ms) t (ms) 

2  

1الوثيقة   
  3استجابة العصبون 

 PA/secعدد 

0 100 200 300 400 500 600 

0 0 100 200 300 400 500 600 

  3استجابة العصبون 
 PA/secعدد 
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 
    

2
 
  

 
1

EXAO 
37°

pH=7O2


1 
 

9 v 5v O.5vO.lv0.5
 H2O2

 
H202 + H202                  

                          2H20 + O2
1 

 
 
 
 
 
 
 
 
 
 
 

1 

 

9V 
5V 
0.5V 

 
0.1V 

 

 





O

2
 

m
g/

l
  

100806040200  

 

 

 

 
 

O2 

mg/l 

15 
 

10 
 
5 
 
0 

100806040200 

9 
8 
7 
6 
5 
4 
3 
2 
1 
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 
 22

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

 2 
   

   
3 


 

 
 
 
 
 
 

 



 


248  

270  
145

Zn 
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 
  

 
I  
1 
1234 

2 
 

 
 

 
3 
  
  

 
  
 

 
4  
5  

 
C6H12O6+ 6O2+6 H2O                   6CO2  +12 H2O  +  

 
C6H12O6 + 2ADP +2Pi               2C2H5OH  + 2CO2  +2ATP 

II 
12 
- 

ATP 
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 
 - 

ATP
ATP 

2
ATP 

3 
 
 

 
 
 
 
 
 
 

  
  

  
 
 

I 
112 
- 113

 
- 2

3 
  

2 

e- 

e- e- 
e- 

NADH 
 

b- 
c1 


 

NADH 
 

nH+ nH+ 

NAD+ 

 

 


 


 

 + H+ 

2H+ + ½ O2 

nH+

H2O 

e- 

 
10 nm 
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 
 21 

II1 
11p1

3 
22

2p
3 

2


 


 p1 
 
 

1 
1 

  


80
 

 


 
 

 
- 0.1v 100

 
- 0.5v 100

 
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 - 5v 9v 

100 
 





 

 
 

 
2 
  

 
  


 

3 


 
 
 
 
 

    
 
 

 


 
 

+ + 

E+P ES E + S 
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 2009 

 
12  

-  
I 

 


 
 1

 
 2 
 3ARNm

 



1 

* 
 

 
 
 
 
 
 
 
 

1  
2  
3  

 
 

  

1  

 
 

  

1  2  3  
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 II


 


cpm

 
- cpm2100 
- cpm0  
1  
2  

III2

 . 

TAC GAC CAC CTC TCC ACG GAC …  
 

1 
 

UUU 
 

UCU 

 

UAU  UGU  
UUC UCC UAC UGC 
UUA  UCA UAA  UGA  
UUG UCG UAG UGG  
CUU 

 

CCU 

 

CAU   CGU 

 CUC CCC CAC CGC 
CUA CCA CAA  CGA 
CUG CCG CAG CGG 
AUU 

 
ACU 

 

AAU  AGU  
AUC ACC AAC AGC 
AUA ACA AAA  AGA  
AUG   ACG AAG AGG 
GUU 

 

GCU 

 

GAU 
 

GGU 

 GUC GCC GAC GGC 
GUA GCA GAA 

 
GGA 

GUG GCG GAG GGG 
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 
 2 4


 

3 67
21

 
  

08 
I 902050




 
-  
-  
- 1

19791999 
 1979 1980 1985 1986 1989 1990 1999 



2 
77500 75000 4867500 3915000 7415000 6635000 6985000 

1 
 

2  
3  
II 1979

210
 

 
 
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 
  

 
 
 
 

 
 
1 2 
2  
3  

 

 
 

I 1ARNm 
2 

 
-  
-  
- ARNm 

ARNm
 

3
 

II 1 


 
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 

 
 

-  
- 

ARNm 
III 1 





















 
24 G   A

AACARNmUUG
 

 
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 - T67C21

 
ADN    TAC  GAC  TAC  CCT  CTC  CAC GGA 
ARNm AUG CUG AGU GGA GAG GUG CCU 

  
Met-leu-Ser-Gly-Glu-Val-Pro 


 

 
 

I1 
         
   

 
 
 
 
 
 

 
 

 
2

198019861990 
3O3

          
 
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 II110 

 
            

 
CL + O3 ----------> CLO + O2  

    C.F.C      
 


 

2         
          

 
3 


           

 18C         
 

CO2
 

 
 

 
 
 
 
 

 
 
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2009 
 

10 



 

 
 
 
 
 
 
 
 

 
1  
2  

ADN 
-  
3 2 ARN

  
 

 
2 

 
   

   
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 4  ARNmGU


 ARNt

CH3
Ala ARNt Cys

2 
 

 
  
 2 

 
 
 
 

   ARNm 
ARNtGU 

   
ARNmCG 
αARNm ARNt 
β 


 
II

 
 

10 


 
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 - 




 
 

   

1 
strepto

 




 

2 
streptoA 

strepto
 




 

3 
staphyloB 

staphylo
 




 

4 
streptoB 

staphylo
 




 

 
 

1  
2 

A B 
3  A B 
- A B 
- 

 
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  

 
 
 

 
 
 
 
 
 

1 1A B 
2 


2

 
 

 
 
 

2 
 
 
 
 
 

   
   

 
 
 

1 
+

 
 

 

  1   2   

 

  

+

  





  
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  

 
I1  
- 10

 
ARN 

- 30 ARNm
 

- 
 

- ARNm
 

2ARNm ADN 
3 
-  ARNt 
-  

 
123 

4 ARNm ARNt 
  

2 
3 G U 1 
U 
G 

UGU 
UGG 

UUU 
UUG U 

U 
G 

GGU 
GGG 

GUU 
GUG G 

ARNm  UUU UUG UGU UGG GUU GUG GGU GGG 
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 ARNt     AAA AAC  ACA  ACC CAA  CAC CCA  CCC 

4
ARNt Cys 

α ARNm ARNt 
2 

3 G C 1 
C 
G 

CGC 
CGG 

CCC 
CCG C 

C 
G 

GGC 
GGG 

GCC 
GCG G 

ARNm  CCC  CCG  CGC  CGG  GCC GCG  GGC GGG 
ARNt     AAA  AAC  ACA  ACC  CAA  CAC  CCA  CCC 

β ARNm
ARNt Cys

 
  

ARNm
 ARNt 

II 
 
 

I1 
- 

 strepto
 

- 
A 
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  strepto strepto

 
- 

B 
 staphylo 

staphylo 
- 

B  
staphylostreptoB

 staphylostrepto 
2

 A B 
 

 A B 
 A B 
3  
II11


 
-  A B

 
2 
- 112


strepto 

- 32

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 staphylo

strepto 
- 232


staphylo 

- 12


strepto
staphylo 

 
 strepto 

 staphylo 
-  

strepto staphylo  
 
 
 
 
 
 
 

 
 
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 
 


2010 

 
 
 
 

 
 
 
 
 

  
 
 
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 2010 

 
05 

 
 

11 
 

1 
 

1 
 1

 
1 

 
 

 
 
 
 
 

 
 
 
 

 
22 

  
  

2 
 

1  

 

 
 



 

 
 





O

2
 

1501209060300 

 O2 

            6 

ADP ATP 

 غلوكوز أوكسيداز

 غليكوكيناز
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  

 
 
 
 
 
 
 
 

  
 
 
 

 
08 

1 
1 

 
 

 
 
 
 
 

 
 
 

1 
110 

 

1 2 3 4 5 

1  

 

6 7 8 9 10 

123  

2  
 

1

  

1 

3 

2

3 
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 2CO2

18OADP
NADP++H 

(18O)
 

 


 
3CO2

 
414CO2

 
2 

 
 
 

 


2 
 

 
 

 
 

41
 


 

-  

 
 

 
14CO2 

4 4000 
4

 
96000 

4ATP 43000 
4NADP+

ATP 
97000 



.......................................................................

 

69 

 
 5

1 
   

  
 

9
1 

 
  

07 
I

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
1 N1 

2G1  C 

 1ج

3ج 2ج

-ت-  

C 

 التركيب التجريبي

 N1عصبون 

 N2عصبون
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 3G2 C 

4G3N2 
 G3 > G2 > G1 234


1 

11 
2

 
3 
4 
II2

C


1 


  4 3 2 1 
G3  

N2 
G2  N1  N2 G1  N1  

N2 
1 

  
 
 

 
 
 

 
 
 

 
1 

 

  
 

 
 

 
 
 

 
2 

 

  
 

 
 
 

 
 
 

 
3 

mv 

-70 

0 

mv 

-70 

0 

mv 

-70 

0 

mv 

-70 

0
mv 

-70 

0 

mv 

-70 

0 

mv 

-70 

0 

mv 

-70 

0 

mv 

-70 

0 

mv 

-70 

0 

mv 

-70 

0 

mv 

-70 

0
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 
 

2 
α

 C
2 

 
 
 
 
 
 
 
 

31
24 

12 
22

 
3 

III
 

 

 
 

1 
 O2

 
  

 
2  

 العناصرࢫأࢫࢫ
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 
   

* 
 
 

2 


 


 
 




 
 
 

* 
   * 

 
12
3 
456 
78910

 
 O2 

H2O                                   O2 + 4 e-  + 4 H+2 
CO2 

CO2
ATPNADPH.H+ 

 
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 
 * 

*CH3-CO-S-COA 
 

*
2ATPNADPH.H+2 

 
Glucose + 2ADP + 2Pi + 2NAD+        2 Pyruvique + 2ATP + 

2NADH,H  
 

*
 

 
 
 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
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 
  

I 
1 
*01123 
*0213PPSE2 
*03123 
*0412

3 
2 
*2PPSE

 
*3

 
3

 
4


 

II1
Na+ 

2α


 
3


Na+

PPSE 
III 
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 
 

Ca++ 
      

 


 
 
* 

 
 
 
 
 

 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
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 
 2010 

 
07 

ADN


 
I1 

 
 
 
 
 
 
 
 
 

114 
234 
3Met

 
41

1 
II

1
pH6

Electrophorese2 
1pHipH 
2 
R1= (CH2)2-COOH 

 
1  
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 
 R2 = CH3 

R3 = (CH2)4-NH2 
 
 
 

 
pH6 

3 
 

06 
 

1 
 

1 
 
 
 

 
1 17.9pHCO2 

   
1   
2   

3 





Fe3+ 

 



 Fe2+ 

4 
3

 
 


 

ـــ+ - س ع ص   
 



2  
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 
    

   
2 1

 
2 

 
 
 
 
 

 
 
 

 
 

  2 
   
3   

 
07 


 

I 1  
 

 
 

 
 
 
 

2  

O2 

 

ADP  Pi  
 

 
 

 

ATP 
 

ADP  Pi  
 

 
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 
 1 1 

2  
3 1 
II 1 




 
1  
2 1 

 





 
 1 2 3 4 5 


 

T8 T8+T4 T4+IL2 T8+IL2 T8+T4 
  
  





 

 



 


 




 


 




 
1  
2 24 
3  

III 
 

 
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 
  

 
I1 
 1ARNm23ARNt4 

2 
ARNt

ATP  
3 

 
 

 
 
 

 
 

ARNm
AUGARNtMet

 
 
ARNt 
Met

MetARNt 
ARNt


 

 
 
 

CO CH 

COOH 
 

3CH 

NH2 COOH CH NH 

CH2 
 

CO NH CH 

4)CH2( 

NH2  
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 
 4–  

 
 
 
 
 
 
 
 
 
 
 

II 
1 
PHiPH


 

PHi PH 
0

 
PHiPH


 

2 
- 

  
 
 
 
 

COO - 
 

CH 

NH2 
 

COO - 
 

CH CH2 

C
T
G
T

TC
C

A
T
A
G

A
G

C
A

A
G

T
G

A
T
C

 
A
G

 

 

ARN  
 

ARNm 
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 
   

  
 
 
 

 
 
 
 
 
 
 

3 
 
 

IO2 
 

12O2
 

3O2
 


Fe+++Fe++ 

*4O2 


 
II 

ATPO2 
ATPO2 
ADPPiATPO2 

COOH CH 

NH +
3  

 

NH +
3  

 
CH2 CH2 CH2 CH2 

 COO - CH 

NH +
3  

 

H3C 
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 ADPPiATPO2 

ATPO2 
O2ATPADP
Pi 
III 

 
 
 

 
 
 
 
 
 

 
 
 
 
 

I1 
1 
2 
3 
4 

2 
 

* 
3

 
 
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 II 

 
1

 
21 

1CMH 
 

1 
01LT8 
02LT8LT4 
03LT4IL2 
04 LT8IL2 
05LT8LT4 

2 
LT8LT4 
LT4LT8IL2LTC

 
3LTC 

IIILTC 
 

 
 

 
 
 
 
 

 
 

 

 

 

 

LTc 

 
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2010 
 

10  
1 1 
  1231 

  2 
 

 
1 

 
3

 
2 2 

 
 

 
                   2 

 
 

  2 
  2 
3 

 
*




 


 

LT   

2 1 
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  

 
 
 
 
 
 
 
 

109
LT4LB 


 

  
  

 
 

 
Anti- 

610 
  

\ BT 960 
\ B 72 
T B 1011 

 
10 

 
1

 
 

 






 


 
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 1  


Nirenberg

ARNm
ADNARNARNm


1 

 
 
 
 
 
 
 


ValCys 


 

22
2


 

 
2 2 

 
 

 
2 

 
  22– 

40 
26 58 

65 

72 84 

95 

110 

26 

84 
72 

65 

58 

110 95 

40 
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   

112 

 
 

1  
1       2    
3 

 
 

  
 

 
 

  



 

2  
 


T

 
- T 
-  
- T 
3  


TB 
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 *TB

TB
*BT

 
 
 

1–01414 
024216 

034364 
03 
*12

3 
2

ARNm
 

ARNmNirenberg18
6

 
GUGUGU

 
2  

 
2

2 
 


 

 
 
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 2010 

 
08  


 

1 11 
  1234 

   
3 
2 211 
  2412

12 
  4 
14

 
 
 
 
 
 
 
 
 
 
 
 
 

11 
 
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  

 
 

2 
 

GUG GUA AUC CCG CGC 

     

UAA AAG UCU CAA GAU 

     

2 

 
12 

1 
1 

  
 
  1 

 
 
 
 

2 
 

 
 

 
 

 


 


 


 

15

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 
  

 
1 


1


 

 
 
 
 

  

2 
 
 


1

 

 
 
 
 

  

3 
 
 


2

1 

 
 
 
 

  

1  
2  
3 2
1 
  2

1 
   
4 13

 
5  
 

 
  

2    
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 
  

 
 

1ADN 
2ARNm 
3 ARNt 
4 

 
– I 

                    II 
* 

   
   

3 
2 
   

2AUG-AAG-GGU-UCU-CCU-GUU 
4         Gly-Ile-Val 

4 
 

 
 
 
 


 

 
 

COOH NH2 CH 

R 
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 
  

I-  
1 
2 
3 
4 
5 
6 

II-  
1-  

1 
 

 
2 

 
 

3 
2

1 
 

2-  
1 


 

2 
 

3 


 
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 
  


 

3 
- 2




 
 


 

41 
-  
- 

 
-  
-   

5 
 

 
 

     
 
 
 

 
 
 
 
 
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 
  

 
 
 
 

 
 

 
 


2011 

 
 
 
 
 
 
 
 
 
 
 
 
 
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 
 

2011 
06 


 

1 1Na+
k+ 

 
1 

 
 
 

 
1 

 
 

 
 
 

2 
Vm70 
Vm70 
2

 


 
3

Na+
Na+


2 

 الوسط داخل خلوي الوسط خارج خلوي

Na+ 

Na+ 

K+ 

 شوارد

 التركيز

400  
300  
200 
100 

0 

K+ 
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 
  

 
 
 
 

 
 
 

 
 

 
  
4K+


2 


  

5  
Na+K+ 

 
Na+
 

K+ 
 

08 
I1
1C14


12


 

 

 


 

 

  

70mV 70mV 
0mV 

-70mV 

0 

0mV 

-70mV 

0 

    

 

 

 

  

543210  543210  

2  

  
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 

1 
 
 
 

 
 
 
 

 
 

 
 
 

2
1

2 
 

    
 

 
 

0 G+++++   G 

1 G+++ 
G++  P

 

2  P++  -    G 

++ P+  

3 CO2  P+++++ 
 

2 
2 



 

1098765432

 


 

O2


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 II

2
 

 
 

1COOH CH3  - CO  C6 H12 O6 
 
 

2 
   CO2 +10RH2+ COOH CH3 CO 

 
 
 

3 
 +  R  RH2 + 12

   
 

1 
2123

 
3

 
4 
5123
1 

 
06 

ARN
 

            + 

            + 
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 I

ARN
ARN

1 
 
 

 
 
 
 

1 
 
 
 


ARN


ARN1

ARN ase 
123 

1 
21

 
34ARN2 

 
 
 
 
 

 

ARN
 

 

ARN
 

– 


 

– 


 

1 
2 

3 4 5 

1 
2 

3 4 
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 
 13 

12 
 
4ARN 
II

ARN 
 

 
 

1 
 

Na+ 


9 

K+ 



20 

 Na+ K+
 

2 
 0.5 
  
 

 
3 
  
 

 
Na+ 
1 K+ 
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 
 2 Na+ 

 K+
 

Na+ 
K+ 


Na+K+

 
 

Na+ 



K+ 

 
 

I–        
 

1 
2 


 

 
2 
0

 
1

 
2


 
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 3CO2

CO2
 

 
II 

 
 

1 
COOH CH3  - CO 2 C6 H12 O6 
 
 
 
 

2 
 6CO2 +10RH212H2O+10R+COOH2 CH3 CO 

 
 
 
 

 
3 

 12H2O+  R  12 RH2 +6O2 12 
  

 
 

 
 

1 
2 

3 

2R 2RH2 
2Pi +2ADP 2ATP 

34Pi +34ADP 34ATP 

2Pi +2ADP 2ATP 
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 3 3 

 
 
 

 
 
 
 
 
 
 
 

 
 

12ATP 
2   2ATP   

3 34ATP   
 38ATP   

 
 

I 
1  ARN

 
2 4


 

e- 

e- e- 
e- 

NADH 
 

b- 
c1 


 

NADH 
 

nH+ nH+ 

NAD+ 

 

 


 






 + H+ 

2H+ + ½ O2 

nH+

H2O 

e- 

 
10 nm 
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 ARNARN

 
3  

1 
2 
3 

 
 

4  ARN  
1.2.3ARNr 
4ARNt 
5ARNm 

 
II-  
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 

ARN

Ser 
8 

Ile 
3 

Mét 
1 

……………
2 

……………
Trp 

Pro 

…………
…… 

A U G A C A A U A C C U    C C C U U C U C A G U U U A G 

1 2  
 

  

 


 

…………….

AG
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2011 
 

06 
I

1 

  


 
1   

2 


15
 


 

3 



 


 

1 
22 
3 

 
 

II2
 

 
 
 

 
 
 
 

 
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 
 1

 
2 
3 

 
 
 
 

06 
I

1 
1 
1

 
 
 

1 
 
 
 
 

 
 

 
11 
21 
II

2




1450 2550 
0 

  

 
 


 
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 

 
 
 
 
 
 
 
 
2 
 
 

 
1 
2  
3 SE

B CD   
 

 
  
 

 
 

08 



 

ICO2  
O2 

 
 


 

 

 

A B C D 
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 6

Fe+++ 
 
 
 
 
 
 
 
 
 
 
 
 

 
1 
06 

612 
21 

 
31 
O2

 


 
II

CO2  
14




RudipAPG

 
 

  


 
 

 

 
 



 
 


 
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 
 

2 
 

 
 

2 
 
 
 
 
 

 
101900 
20500 
32

APG Rudip  
III12

 
 

 
 

I1 
2

 
3 
 
-2 
-3 

ا)ث(الزمن   

 ضوء
 ضوء ظلام
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20000 
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3000         2500              2000           1500       1000             500               0 
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 
 II1 




 


 
2 




2 
3 

. 
 

 
 
 
 
 
 
 
 
 
 
 

 
 
 
 

 


 

 

 
 

 
  


 





 

 
  

COOH 

COOH HOOC 

COOH 

NH2 
NH2 NH2 

NH2

 
 
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 
 

 
 
 

I 1045
4555 

 
E+S    ES   E+P 

 
2--

 
 

II–1 
 --

 


 
2 


 

 B 
 
 

C 
 
 

D 
 

 
I1 06 
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 
  

 
 

 
612610


 

 1012


 
2 
3 

02NADPH.H+2→H2O2


NADP2 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

II1 
 0450

Rudip7000 
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 
  APG12000 

 450500
Rudip 

 APG25000
 

 5001900Rudip 
 APG20000

 
2 
 
RudiPAPG

 
 
RudiPAPG

CO2
ATPNADPHH+ 

APG 
 

3 
RudiPAPGCO2APG
RudiP 

 
 
 
 
 
 
 
 
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 
 III 

 
 
 
 
 
 
 
 
 
 
 

     
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

6 4 

     

  

 

 

 

 
7 

5 3 

17 

1  7  13 CO2 
2  8 ADP 14  
3  9 Pi 15  
4 H2O 10 ATP 16  
5 11 NADP+ 
6  12 NADPH,H+   

17 
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 
 

2011 
 

10 
I 1

 
 
 
 

1 
 

 
1    
2 1 
3 16 
II

ADNARNm
2 

1 ---- 
2  
3  
4 

1 
 
 
 
 
 
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 
 III1

 
  αARN

 
ADN

ARN ARNm
α 

2 
 
 
 
 
 

1 2 
2 ARN  
  

  
   
1   

2 
 




 
3 

tétracycline 


 
 ARNm   

TétracyclineA  
1 23 
2 23

 
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 
 10 


 


 

1 1



  

  


 
  15 


 
2 




2 
   

  
1

 
3 

 
  


 

 
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  

 
I1 

1  
-  
- ARNm 
-  
-         

 
2 16 
1ARNm 
2ADN 
3 
4 
5 ARNm 
6 
II 
1  
 

2     
AUG CAA UUC UAC CUA GGU CCU UGA 

3  
MET-GLN-PHE-TYR-LEU-GLY-PR 

4  
 
 

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 
 




 





1 
- α ARNm100%. 
- α0.5ARNm

10%α
1.5 

3  ARN  ARN 
123 

2 ARNmARN
 

-  
3 A   ARNt 

 
2 

ARNm 
 
 
ARNt 
 
 
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 
  

1 
  
  
 γ 

 
1234
5 

 
  
  
  
2 
 

– 
 

– 
 

 
 
 
 
 
 
 

 
 

 
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 
  4

 
 


 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
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 
 2011 

 
10 

1  
 
 
 

   
  1 
    

 
1 

-  
-  

 
- 

 
-    

2 


 
Ph=12      .        p h=2           .            ph=6 

2 
 
 
 
 
 

 
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 
 R1 Ph=12  

        p h=2      
R1Ph   
3 
 

10 
sida 


 sida  

Walter reed  06 
   sida 

  
0  
1  
2  
34  

5 
 

6 
 

12
LT4VIH

 
1 115 
2 

2 


 

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 
 séropositif Ig VIH 

6 
3 

 
  

 
 

 
 
 
 

 
 
 
 
 
 
 

 

 
1 

   
  

  
α 

 
 

 
β 
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 
 γ06 

2 
PH=2 
PH=12 
PH=6 
*ࢫPH

 
 

:2 = PH ھH3N+-CHR-COOH 

12= PHھH2N-CHR-COO- 

 



 

 
 

11 
1 
2120gP 
3ARN 
4 
5 

-  
-  

         


120gPLT8
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 
 

4LT 
 

120gP 
6 

 
4LT 


4CD 
3 
VIHLT4 
 
LT4 

ARNAD N 
ADN ADNLT4 
ARNm 

gp120+gp41+p24 
 
 

 
 
 
 
 
 
 
 
 
 
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 
  

 
 
 
 
 
 
 

 


2012 
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 
 2012 

 
 07 




 
IGRM

 
10

 


1 


1 
 
 
 
 
 

 
 
 
 
 
 

 
1  
2   
3  
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 
 4  

5 1 
6 

 
7 1

 
II

 
2  

 
 
 
 
 
 

 
 
 
 
 
 
 

  
1  
2 2 
3  
III

 
 
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 
 6.5 


 

1
  

1  
 

 
1 

14 
 

 
2 0

 CO2
O2

2 
 
 
 
 
 
 
 

 
 
 

  2 
  03 
2 
 
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 
 3 


1 

 
 6.5 


 


 

I 1 
12


 


1 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
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 
  

  



1 

22


2Ca+2
 

 
 

 
 
 
 
 
 
 

 
- 2 
- 2 
- 2

Ca+2 
-  
- 

 
 
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 
  

    
I 

1 
(LB) B   (LT) T  

2 (LB) B–
 

3  
4  
- 

 
5 1 


10


100 
6 


 

7 1 
 B

 


 
-  

 
 
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 
  

 
 
 
 
 

II  
1  
- X


B 

-  T
 

2 2 
- 3

GRM 
- 12

GRM 
3 

BT 
III 

 
 
 
 
 
 
 

 

 ليزوزوم



.......................................................................

 

137 

 
   

1 – 
 
 

 
-  
-  
123 

4 
 


 

 
 

2  
  2 

- 01 
- 12
 
- 23

 
- 34

 
   
- 01O2 

 
- 12


 
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 - 23

O2
O2

 
 
        
-  

6CO2  + 12H2O                      C6H12O6  +6O2 + 6H2O 
  

C6H12O6  +6O2 +6H2O                       6 CO2  +12H2O +  طاقة 
3  

 
 
 
 
 

 
 
 
 

 
 
 
 
 
 
 
 

 
 
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 
   

1 1 
 


70m V 



 

 
 
 
(PPSE)

 
 


 
 
 


 
(PPSE)

 
 


 



 

 
 
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 
  

 
 
 
 
 

 
 
 
– 

–


 


Ca+2



 

Ca+2



 

2 



Ca+


 


 


Na+

(PPSE) 
 
 
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2012 
 08 


 

I1 
 

 
 

 
 
 
 

1 15
1 

2  
– 

 
 

3 Ala = CH3 Asp = CH2 – COOH
Lys = ( CH2 ) 4 

   
  Ala–Asp–Lys 



 

II 
 

PH6PhiAla 

NH2 COOH CH 

R 
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 1 

1  
2  
3 αβγ 
4 αβ
γ 
5  

2
13

2 
 
 
 

 
 

1 2
 

2 
 

 
 07 


 

I


1 
1 1 
2 1 
3 11 
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 
 
 

 
 

 
 
II 

 
11

15
24 

DCPIP


2 
011

2PH
DCPIPATP


Pi ADP 
2 
-  
- ATP 


 
1DCMU

2PS1 PS
 
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 
 2DCMUDCPIP

 
3DCMU


 

 
 

 
 
 
 
 

 
112 
12 
2 
23

 
311 

Pi ADP 
  DCMU

 
   
III

1 
 

 05 
I 


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 
 1

 
 
 

 
 

 
 
 
 
 

   
   
1 
22

 
 
 
 
 

 
 
 
 
 
 
 

 
  2 

   
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 
 2

 
2

 
 
3  

E + S      →       ES      →     E + P 


 

 

   
I 

1  
123 

                               4     5 
 

2  
   

   
 COOH 
NH2 
R 
α 

3 
   

*Ala 
*Asp 
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 *Lys 

R 
 
 
 

 
 
 

 
 


27

33
27 


 


 

II 
1 

 
2 PH6 
β

 
 α

 
y

 
3αAsp 
βAla 
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 
 γ Lys 

 
 

 
 

 
 
 

4
PH6 

5. 
III 
1 

 
AAA  GAC   GCU   AAG   GCG    
TTT   CTG   CGA    TTC    CGC    

Lys     Asp      Ala     Lys   Ala 
2 
* ARNm


ARNm 

ARNmAUG 
* 

ARNm
 

ARNmARNt 
 

 
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 ARNt

 
*ARNm




UAAUGAUAG 
*  
* ARNt 
*  

 
  

I 
1 1 
1 234 
21 
3 1 

 
 
 
 
 
 

 
 
 
 

II 
1 –12 
*1 
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 
 01 

12 
232DCPIP 0.1

O2 
34  

*2 
01ATP

 
12

ATP 
23PI ADP2

 ATP 
3ATP

PIADP 
12 
-  PIADP 
- ATPPI   ADP 
2 – 

1DCMU
PS2 PS1 PS2

 
 ATP

 NADP+
 

2DCPIP PS2
 

DCMU
 ATP NADP+CO2

 
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 
 3DCMUPS2

 


 ATP  NADP+CO2 
   
*23 

 
*2PS2

O2 
3-DCMUATP 

DCMUPS2 PS1


ATP 
 ATP

PIADP


PS2 
III 
1 PS2 PS1 
2  
3  
4 ATP


HNADPH 

5 ATP


HNADPHCO2


 
 
  

I 
* 
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 
 245

13
1224258168182

191221 
*  

13 
131 
97 


13107


12153

 


 
 





 
2 
  2 


 






 
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 
 


Histidine Serine

 
 



 

 


 
 

3
S 

ES
 P

E 
 
 

 
 
 
 
 
 

 
 
 
 

 
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 2012 

10 



 

I–11
125Rastop

(R)
pHi 

 
 
 
 
 
 
 
 

 
 


 
 

22
pH=5.98 

 
 
 
 
 
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  

2
1 


1pH= 7.02 

 
II

 
 

10 
 

 
 

 
I1 

1 
 

2 
3 
4

 
III

2 
1 
2

24 
3

 
 
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  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

III


 
 

 

 
1 

 
   α β. 

    
 
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 
  

 
 
 
 
 
 

 
 

 
 

-  
 

-  
2 


 Ph 

 
- 

 Ph
 pHi   Ph

 
- 

 pHi  Ph
 

- 
 pHi   Ph

 
 
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 
  

 
 
 
 
 

 
 Ph 

Ph


 
II 

 
 


 

 
 

I1 
 

 
 
 
 
 
 
 
 
 
 
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 
 2γ

 
3 
-  
-  
4 





 

II1 
- 1

 
- 2


 

- 3
 

- 4
 

224
 



2

4 
3 
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 
 


 


 

 
- 

 
-  
-  
- 

 
  

2012 
 

10 
 

I1


1 
   

01 1 
1 

02 2
 


2 

03 
21

 




1 
1 
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 
 22

 
3 
II212


 

1
ARNt 


2 


22 

 
 
 
 
 
 
 
 
 
 

12 
12

 
 
 
22 
 
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 

 
 

10 
T

 
 

IT


 (51Cr 



30%1 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
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 
 1 

2T23 
3 
II

2
 

 
 
 
 
 
 
 
 

1 
216 
3 
 

 

 
1 
011

 
 
*2

ARN  
3ARN 

 
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 *1

ARN  
2 
2 
 

 
 
 
 
 
 

 
 

3 
 

 
ARN ADN  

 
ARNm 

 
 
 
 
 
 
 
 
 
 
 

 


  

1  


2  

 
0.5

1

1.5

10 20 30
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 
  


0.5  

1
1.7525 

2
0.1025 

 
- 1

ARNt  
- 2

ARNt  
- 2 
 

 
 

 
 
1ARNm 
2 
3 
4 
5 
 

 
 
 

 
 
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 
  

1
 

2T 
2LT4  LT8 LTc 
3LT4  LT8 

3
60%

 
TLTC  

234
30% 

 
 
 LTc

3 
 LTC  
 LTC 
 

1
 

2 
1 
2LTc 
3CMH 
4TCR 
5CD8 
6 
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 
 3 

 
 
 
 
 
 
 
 

 
-  
-  
-  
-  

 
 

 
 

 
 
 
 
 

 
 
 
 
 
 
 
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 
  

 
 
 
 

 
 
 


2013 

 
 
 
 
 

 
 
 
 
 
 
 
 
 
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 
 

2013 
08  


 

1 
 

1 


 
  








1 

 
2 ARN12

12
2 

 
 

 
 
 
 
 
 
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     

  
21 


1 

3 
 


ARNm


 

  
 10.8 

 1.3 
 1.1 

 0.4 
 10.2 

 1.5 
 1.2 

-  
4 ARN
 
   

   
2

12 
5 1 
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 08 

I.





1 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
1  
2 1534

 
3  
II.2


2 

 
 

 
 

 

 

 

 

 

  

  

  
 ɠلورʈدࢫاليودحقنࢫ

 حقنࢫعصياتࢫالدفت؈فيا

 المجموعةࢫأ

 حقنࢫعصياتࢫالدفت؈فيا

 موتࢫاݍݰيوان

 مجموعةࢫتموت

 مجموعةࢫȖعʋش

 استخلاصࢫالمصل

 حقنࢫالمصل
 حقنࢫعصياتࢫالدفت؈فيا

 حقنࢫعصياتࢫالدفت؈فيا

 استخلاصࢫالمصل

 حقنࢫعصياتࢫالدفت؈فيا حقنࢫالمصل

 موتࢫاݍݰيوان

بقاءࢫاݍݰيوانࢫ

بقاءࢫاݍݰيوانࢫ

 حيا

1 

5 5 

3 

2 

3 3 

4 4 

 بالمجموعةࢫ

 جالمجموعةࢫ
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  

 
 

 
 
 
 
 
 
 
 
1- 21

3 
2-  
3- 23

 
4-  

   
   

 
04 




 
I

1



 

- 111
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 13

2 
- 2 

22
23

2 
 
 
 
 
 
 
 
 
 
1 12 
2 312 
3 4

12 
4 51

2 
II1GABA

1 
2 

1  
2 GABA

2 
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  

   
1-  
- 


 

- 


 
 


 
 
- – 
- 

 
2-  

 
12

 
1

 
2 


 

 
1ARN 
2ARN 
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 ARNADN

ARNm 


ARN


ADNADNARN
 


 


1 

ARN 


 
- 

 
- 


 

- 
 

ARN 
3

 
- 

 
-  
- ARN

 
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 
  

3- 


 
-  




ARN
 

4- ATP 
ATPARNt

 


ATP 
 
 
 
 
 

5-  
1

 
-  
-  
 

  
I.1 
*

 
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 
 *

23 
34

 
3 
*

5 
2 
*15 
*1 
*5

 
*34 
*3


 

*4
3

 
3* 
*

34


 
II1* 
-  

123 
2  
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 
 *

 
*


 

–––––
––

 
3 23

 
 23




 
4  

 
 
 
 
 
 
 
 
  

I112 
12 

23 
- –1–3


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 
 1




 
- –2–3







 
3 12

2
1


 

4 5
12

5 
II1GABA

 



 

2



GABA

 
GABA 
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 
 2013 

  08 



 

I.
 

1 
 
 
 
 
 

 
 
 

 
 

 
 
 

 
1  
2 O2 
3  
4 1 
  14 

  
 
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 
 

 
II.

 


CO2 
3Fe3+


Fe3+ + e-       Fe2+     

5 
O2

2 
 
 
 

 
 
 

 
 
 
 

 
 2

 
1 2 
2  
3 

 



.......................................................................

 

182 

 
   06 

 
1 ES

 
V1                    V2 

E + S                       E–S                   E + P 
V1ES 

   V2E + P 
  E–S 

   
ES 
2 ARN

PE–S1 
 
 
 
 
 
 

 
 

  1 
   
ESP

012 
  
3 β


2 

 ال؅فك؈ق

 الزمن

 المنتوج

ES 

2ز 1ز  0ز   
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 
 
 
 
- 

 
 

 06 


 
I.


 

1 
 

 
 
 
 
 
 

1  
2 1

 
   
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   

 
3 1A

AB 
 

   
  1

 
II.HLA

2 
 

HLA :     DR3       B5  C2  A3           HLA :    DR7      B7  C5  A9 
HLA :    DR3      B8   C1 A3 

 HLA :   DR7      B27 C7  A2 

2  
 

   
   
III.
 

 

 

  
I.1O2

O2
NADP+CO2 

- CO2
NADP+ATP 
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 - O2

 CO2
NADP+ATP 
2O2 

- CO2 
3 
-  

  
  

414 
1 234 
 
 
* 
II.1*2 
- 03O2 
- 35Fe-3 

O2 
- 

O2 
*O2

 
2 

PSII
 

PSII


PSI 
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 
 PSI


 

3 
 
 
 
 
 
 
 
 
  

1  
ES 

 
 

ES
 

2  
  1 

- 01
1 

- 12
 

- 23
 

  01

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 
   ARN

 
- 1
 
- 12

V1V2
ARN 

- 23ARN
3

ARN
 

ESP 
 
 
 
 
 
 
 
 

3 2
 β      


          

 
-  

          
           

 
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  

I.11 
-  
2

 
 
- Anti-aAnti-bAnti-a+b 
-  

 Anti-a Anti-b 
A   
B   
AB   
O   

 
3 

 
  

AOAA A 
AB AB 

 
 

*1 
 

AO                    AB 
  

 
AA            AO                AB              BO 

 
 
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 *2 

AB             AA 
 

AA             AB 
 

 
- Anti-A

BBO
BO 

II. 
4 

 
DR5  B5  C2  A3                      1                     DR7  B7  C5  A9 

 2        
       3 

DR3  B8  C1  A3                      4                  DR7  B27  C7  A2   
 
CMH

CMH 
III 
1 HLA

 
2 A.B.O

 
 
 

  
  

 
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 2013 

10 

1 1 
12

 
 
 
 
 
 
 
 
 
 
 

 
  ABC 

  121 
1

 


11 
2 2 
  1A2A3A5A

 
  

 
 
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 
 

10 

1 
Oucheterlony


 1 

 
 
 
 
 
 
 

 
   

   
   
2 0
X4

 
 
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BT 
15


 

2 
 
 
 
 
 
 
 

 
I  

 X 
  
  

II 2 
3  

 
 

  


30 
  




 

 LT 
 LB 
 LB LT 
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  

 
1  
ABC 
 

12
 

 
A3B2
 

 AUGMET 
UAAUAGUGA 

2  
1 
2P 
3 

4 
5A 

6ARNt 
 

1AMetA2Lys3APhe5AGly 
   

AAGACCUGGGGC 
 
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  

- ARNt
 

- ARNt
PA 

- ARNt A 
 
 

1  
- 

 
 
 
 
 
 
 
 
 

 
 


 

2  
- X 
- LT 
- CMH 

 
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 -         

           
 B T LT4   B  

 
- 

 
 

BT 
 
TB 
   B

LT4 
3  

 
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 2013 

10 


 

I 1
ARN 

 
 
 
 
 
 
 
 
 
 
1  
2  
3  

 
II 2

 


 
1  


 
2 

 
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    

  
 

 
10 

 
I AZ10

1 


 
  

1 


A
Z 

 

2 


A 

3 


B
Z 

 

4 


A
X 

1  
2  

1 
IIA
Z2 
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1  

  
  
  

2  
VIH

 
III

 

 

 
1 LB 

LBP 
 

1 
2 
3 
4 
5 
6 

7 



.......................................................................

 

199 

 
 2 LB

 
LB 

3 
- 123

ARNr4ARNt 
- 12345

ARNm 
 

5
 

5



 
 

I.1 
-  
2 
 
 
 
 
 

 


 
- 

 
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  


 

-  
 
 
 
 

 
 
 
 

 
 
 

I 1LTC 
8 LT 

2LTC 
 
 
LTC 
CMH 

LTC  
- 

TCRCMHI
 

- LTC


 
 
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 II1 


 

- 0
 

- 13
 

 
    


 

  
LT4

CMHII
LTh 

LTh
 

1 8 LT
LTC 

 
- VIH

LT4 
LT4

 
III 
-  

 
 
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  

 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 


